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ROUNDING TO NEAREST 10 AND 100

(T’ THE NEAREST HUNDRED)

(T0 THE NEAREST TEN) |

Number @ 54
Hill Strateoa(j

fsunds 55 - Mid point
to
50 =
S0 O

T4 the number 15 4o the left of the
Midpoint | leave it alone. If it is fo the

o ﬁﬁ'*' So up.

number : HoZ
Hill §trategy

Round S +o H50

N

HoO

500

Spotlight  Strategy
& Spetlight
Place — = Aounds +o
Value \ 50

(50) O

D Find place value & underline
@ Cirdle the number 4o +he right

@ _ T4 number is Y or less, \eave
it alone . T€ 5 oc Wigher, go up.

Spof\ish'\' Strat

S’Oﬂia [
Place H@ ‘

Value 7"\
Hoo

Rounds up o 500



ADDITION WITHIN 1,000

equation: 32 +2917 =

Expanded Form:
& Place Value:

add{?%_l-e 300+ 20+ 8 228 addends
+'297| 2100 + qp + M +2_qu
500\ H (Hundreds)
cun—2015| 500 110 45 ad
500 ’n-o 5 __1 51 o(ones)
600 20 5 blb &— sum

addends — Ooen Number Line : .
?{8\*»2_% = Lb15 <€ Add the yumps:

: |00 + 100 = 00 2917
Start with e
the bigger addend - Z to, get to L5 gFio) =T 7 >

f¢ cnd\\i NUMber + 100V +loov -r?.o/..-s\/

AV EXPv _xBov _»IQ0Y I
N\ 3183304350400 500 (poocpzo(;‘\zs

um
; y Sum



SUBTRACTION WITHIN 1,000

\ Open Nuwber Lind) 312-367.

So\ve bﬂ “addin Up +0 Subfraciu

@Zﬁ 0 0 > 90 267+ [AHE]-9/3
367 30 00 00 g0 N>+ 3
(4 4 &) missing addend.

50 =300 AE - (CAdd wp to subtract )/

, £0 00 200 813
Ghe) 9 L1 367+ _/ 3\=370
j _ e, BT0% /4 20 = 40O
313-367 7 [4 46 |&difference §00+[100]-500
Boo+\ 10[=% 10
10~ =313

'
Ev panded. Form)
Q5= %88 4—"?6.4—{3 Get Qrier\dtg )

Stay Sriendly,
_367= 500+ O+ ] 4:%\ n :;(,%e Le%i'overs
6 =400+ 40+ 6




MULTIPLICATION

T Tx8 o 56+8  (Feredel Mo

:::“ :::.' Theﬁrs}"‘7x3_"%e se.cond @ador‘fdk yoU what
BB 5|40 F::'fm’fre‘lls the addend is
3|25 Zlet Rled™ 6+8.8+8+8+8+8°5b
4132 Ww 24 32 do 49
5140 Shordcut for
_b} Y@ :Caw%ler Eo‘fo:(sl... 7 o 8 »

56 ind o frie “ =

fach you k::owy Equal Growps

! 7— 4
“ 7gmp$£f9
-

7 The 4otal number
inSid¢ eadn ng.p

is +he groéuc
The prodvet of 7x% is Sb.

o




7x8 °r 568

o000 'YREEX i : ; ! - : __-[ hOWMan\! ed_ﬁb___
X loaeo X looe LY oupS/ - - 3r6 > geds |
| 8 540 | | i
2110 6|49 §-‘_\“Z_ el
2124 7156 +s i
4|32 | W20 20 35 deling cardst
5|40 Shordcut for C[un]) [un) [unl | /‘s JHER
(_; 4@ lFoxger -E‘;OTOZSM a1 L Y ! " ‘ L |
56 ind o friend! R el L Ll
foct you |cnowY 4. .41 S, MY Eadnh group gets 7.

‘?’;\;iderd: <’n+56 ':.'8 =2 Divisor: amount 4o be sobtracted Qfeaiedly
al amov

05, ®yg Quo ®, @, 9, O

-8 - % -8 -® -© -9 -8

Refea’(ed Subtvaction 49 40 31 74 (G @ 0]

Yovr quotient will be +he number of times you
subtvacted @ jfrom 56 +o reach 0. 56+8-= 7

—
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FRACTIONS

C)Ompow‘n a Fractions

\ .
- > 5

: @00 3 L

2 4 eoulvalent
V | | R
‘900000 T 3 = % Tractions
e Eatu | =

..t_
2 (,cuuva\evx
2 < nuwmerator /7” FracTion

3 < denominator w/[\kolﬁ @ @D @

nuamoex”




Area = The number of
square units that
covers a shape or
figure.

Square Unit = A unit
of measurement that
determines the area
of a figure (14
squared feet or 14 ft2)

Tiling = When you fit
individual tiles
together with no
gaps of overlaps to
fill a space

AREA

(w)
5 Count +the boxes/units! or Multiply the length Himes widdh
U-) (0 : d As L¥w
I5 Arca= |6 square unifs A= 3x5
A= |5 square units
. A= LxW
2in pz2x7
7 in. A= l4in.z

Solve for L'
The area of +his L A=LXW or

The (eng% (L) is
rectangle is 32 9.f | =  32:=0x9 o

£t
K. Notice +he L is
o £+. NoT squared.

‘@EAFW‘ the area! Tiling'. -
2x2d = 4§ :

gl T ERes T L. /\
? s lzgo‘ wpall A=4+3+2+]
2 A 2 = the tiles. .
%""-{:[2 A= S‘fS

A=12w? A= 10 unit§ squared



PERIMETER

o number
B 4012 sides
P x 32
, ~ Add uwp 5t 5 +4
Sin. in. all %e o If an obj et %+ *‘3*6
_ Sides | 10 +4 =4 isas uare Nt . W
4in. o all sidgs are (6 + 1o =31
Perimeter = The = 14 yo, @&k Known becast P=32F
sum of the lengths all sides arg . 4.
. g equl.
of the sides of a
shape.
Perimeter = e v it Congruent sides = Aﬂd ‘Hned k::ewn
4 sSideS an n
L+W+L+W vﬁ . are equal WY@POYC 15m Svbtvact from ‘fo‘ta‘
All SideS are Known 25m perimeter 4o find
? S5€k  in +his example. : +he unknown Side.
7 +4. 2 |15+16+ 25 + 26
Bid FEEY B NG %
M, P- q5 20 + 650 = %0
- m
0 + |4 =24 a5 -go = [\g)
P=24 £+ -

go+ [18) = 95




ELAPSED TIME

M 55\“5 end tiMe Missing duration MiSSi“f} Start time
TS5 7 4h I5M 2:237 ? &:5l 7 Zhbm 35
~ Mountains, Hillg, Plbbles ZLoom T - Chact
ShH1 2723 12245 Sort cxart | Rour Min
Vi D < 19 @3 1LS(-2h
P 55 17 b bh ?_8: End 25 o
l.@ | ewlen o qen | I




GRAPHS

Types of Books Read

s Ny | QOOPLOLP

v " YOV
. I I I -l &= 5 books

Number of Books Head
=
2n

Monfiction Biography  Fiction Mystery  Fairytale  Fantasy

Pictograph
!33" graph A type of graph that uses symbols and pictures to
A Graph drawn using rectangular bars to show represent data
how large each value is Objects on My Desk
x x b

Scale = A series of — A key is used to
numbers placed at - i o i e identify the number of
fixed, or equa|, Measurements in Inches categories present n a
distances. - Line Plot - graph. Itis also called

Line plots who data on a number line a legend

with an x or other marks to show :

frequency



Solve the following word problem using the RACE strategy!

- Standard: OA3 Uses strategies to solve multiplication word problems.'

WORD
PROBLEMS
(RACE)

P S R T ._
jLNswer oentence: T - e _ ¢ pe
Answer Sentence \/ T"" ;5\, bloe *"‘] 5 ,"
o Write anequation | = e i coinsartisen e ctmisionetor et sodenimins et e ot L L H
(numbers) R B T plir S P T SR e i s 1
« Restate question i ’éx 7: l
(words) l_.__...__ AR I AN NN, W J
lc@:s_ .............................. _'
: . P . X
. h, ’ . I
/I L/~
Explain your answer 2l | ¥ oy 1
«  Whatl know (facts & | : : |
operation) (R)

 Whatl did (strategy)
(C)
« Whatl found (answer

question & summarize
(A)

Read the Problem

* Circle important
info

* Underlinethe
question

* Eliminate
extraneousinfo

Choose a Strategy

+ Showall of your
work




